Fill in the following identities.

‘fa]  NEGATIVE ANGLE IDENTITY:
sec(-x)= Sef x

fc] SUM OF ANGLES IDENTITY:

[b]

[d]

sin(x + )= Smx Cotij O er X Si‘h‘lj

[e] POWER REDUCING IDENTITY:

sinfy= |~ Cos2x
2

le] DOUBLE ANGLE IDENTITY:
WRITE ALL 3 VERSIONS]|

Lf]

PYTHAGOREAN IDENTITY:

"HALF ANGLE IDENTITY:

SCORE: /14 PTS

cot’x= Cgeix—

DIFFERENCE OF ANGLES IDENTITY:

tan(x — y) = %x '—‘IZW\LJ

| + "izi/\x‘t’?w\j _

coslx= 4+ |l cosx

cos2x = Ca;LXFS;WZX) Qwslx#) l"QSW{"X

If cosx = % and 37” < x < 277, find the values of the following expressions.

SCORE: /30 PTS

Write each final answer as a single fraction in simplest form, including rationalizing the denominator.

[a] sin 2x

= 2 spex cos ™
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[b]

cos(arctan(-2) —x)
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= Cos Y oS X —vfﬂn:jg‘v'x
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Prove the identity =S8ecy cscy
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Rewrite cos” xsin® x using only the first powers of cosine (and constants and the 4 basic arithmetic operations). SCORE: /14 PTS

. 2
Simplify your final answer, which must NOT be in factored form, and must NOT involve any other trigonometric functions

|+ cos2x |- cosdx
= 2

= |- c;os”:)x ,
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Solve the equation 5—2cos+x =4(1—-cos 1 x).
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